
Practice	FRQs,	due	in-class	Tuesday,	February	14	♥	
	
#1	
	
A	polling	agency	showed	the	following	two	statements	to	a	random	sample	of	1,048	adults	
in	the	United	States.	
	

	
The	order	in	which	the	statements	were	shown	was	randomly	selected	for	each	person	in	
the	sample.	After	reading	the	statements,	each	person	was	asked	to	choose	the	statement	
that	was	most	consistent	with	his	or	her	opinion.	The	results	are	shown	in	the	table.	
	

	 Environment	statement	 Economy	statement	 No	Preference	
Percent	of	sample	 58%	 37%	 5%	

	
	

a) Assume	the	conditions	for	inference	have	been	met.	Construct	and	interpret	a	95	
percent	confidence	interval	for	the	proportion	of	all	adults	in	the	United	States	who	
would	have	chosen	the	economy	statement.	
	

b) One	of	the	conditions	for	inference	that	was	met	is	that	the	number	who	chose	the	
economy	statement	and	the	number	who	did	not	choose	the	economy	statement	are	
both	greater	than	10.	Explain	why	it	is	necessary	to	satisfy	that	condition.	

	
(Answer	on	separate	sheets	of	paper,	labeling	questions	#1	and	#2.)	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

Environment	statement:	Protection	of	the	environment	should	be	given	priority	over	economic	growth.	
	
Economy	statement:	Economic	growth	should	be	given	priority	over	protection	of	the	environment.	



#2	
	
A	pharmaceutical	company	has	developed	a	new	drug	to	reduce	cholesterol.	A	regulatory	
agency	will	recommend	the	new	drug	for	use	if	there	is	convincing	evidence	that	the	mean	
reduction	in	cholesterol	level	after	one	month	of	use	is	more	than	20	milligrams/deciliter	
(mg/dl),	because	a	mean	reduction	of	this	magnitude	would	be	greater	than	the	mean	
reduction	for	the	current	most	widely	used	drug.	
	
The	pharmaceutical	company	collected	data	by	giving	the	new	drug	to	a	random	sample	of	
50	people	from	the	population	of	people	with	high	cholesterol.	The	reduction	in	cholesterol	
level	after	one	month	of	use	was	recorded	for	each	individual	in	the	sample,	resulting	in	a	
sample	mean	reduction	and	standard	deviation	of	24	mg/dl	and	15	mg/dl,	respectively.	
	

a) The	regulatory	agency	decides	to	use	an	interval	estimate	for	the	population	mean	
reduction	in	cholesterol	level	for	the	new	drug.	Provide	this	95	percent	confidence	
interval.	Be	sure	to	interpret	this	interval.	
	

b) Is	this	drug	effective?	Explain.	
	

c) Should	the	regulatory	agency	recommend	this	drug?	Explain.	
	
(Answer	on	separate	sheets	of	paper,	labeling	questions	#1	and	#2.)	


